MaTtHeEmATICAL REASONING™ LEVEL F

Number and Operations
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Use the choice box to fill in the values on the
number line. Each whole number below is cut
into 100 equal parts.
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MaTtHeEmATICAL REASONING™ LEVEL F Answers
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Page 109

1.2 pints; 2.1 quart; 3.4 quarts; 4. 1 gallon; 5.6 cups; 6.7 cups;
7.4 cups, 1 quart, &gollon

1.b; 2.a; 3.b; W.b; 5.¢c; 6.b; 7.a

2.6,2; 3.8,8;, 4.2,2;, 5.8,9;, 6.4,1;, 7.7,5; 89,4, 9.9,5
2.3,1; 3.1,2;, 4.6,6; 5.5,5; 6.8,2; 7.6,4; 8.3; 9.5,3; 10.2
Total 34
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.u; 2.7,7; 3.6; 4.3; 5.1,1; 6.8; 7.2,2; 8.2,6,4; 9.3,6,8

.28+4=7;, 2.24+8=10

.3,2; 2.4,2; 3.5,3; 4.8,7; 5.7,6,9; 6.3,3,9; 7.4,3,7; 8.2,3; 9.5, 4,8
.2,3,2; 2.4,3,5;3.5,6,8; 4.3,2,0; 5.7,4,6; 6.5,7

.U; 2.6; 3.5; 4.37; 5.68; 6.7uU

. 2 0'clock; 2.8 o’clock; 3.6 oclock; 4. 6 o'clock; 5. 3 o’clock; 6.5 o’clock

. Inside the parentheses, multiplication is done before addition by order of operations.

+/5)[x|6=u8; (5[-13)[x]1=2; (a]x]a)[-]31=50

. From the first floor to the second floor are 26 steps, so we can assume there
are 26 steps between floors. From floor 1 to floor 6 there must be five sets of
26 steps, or 130 steps.

. 12,18, 2u; 18, 27, 36; 18;
.3,6,9,12,15,18, 21, 2u; 8, 16, 24, 32, 40, U8, 56; 2u;
. 5,10, 15, 20, 25, 30, 35, 40; 6,12, 18, 24, 30, 36, 42, U48; 30;
, 18, 27, 36, U5, 54, 63; 15, 30, U5, 60, 75, 90, 105; Uu5;
, 12,18, 24, 30, 36, U42; 10, 20, 30, 40, 50, 60, 70; 30;
,8,12,16, 20, 24, 28, 32; 7,14, 21, 28, 35,42, 49, 56; 28

; 3.8, 4.12; 5.6; 6.8; 7.4; 8.13; 9.1,2,4,5,10, 20, 25, 50, 100
.i; 2.e; 3.a; 4.j; 5.¢c; 6.f; 7.b; 8.h; 9.d; 10.g

W e

Row 1: .u5, .9, 1.55, 2.07; Row 2: 3.81, 4.4, 5.55;
Row 3: 666 7.07,7.77, 8.87; Row 4: 9.29, 9.92, 10.1, 10.55, 11.11, 11.9
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MaTtHeEmATICAL REASONING™ LEVEL F Answers
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1. 54, 56, 27; 2. 214, 637, 538;

3. 15, 32, 57; 6349, 215, and 55 don't belong

worm 2. 3& in.; worm 3. 1& in.; worm u. 5& in.;

worm 5. 3% in.; worm 6. Ll% in.; Win.

golfer 1. 5.7 cm; golfer 2. 6.7 cm; golfer 3. 7.0 cm; golfer 4. 4.5 cm;

golfer 5. 8.8 cm; golfer 6. 9 cm

1.94cm,9.8cm, 138 cm; 2.7.5cm, 340 cm, 56.3 cm; 3. 360 cm, 174.38 cm, 33.6 cm

1. 180 square cm; 90 square cm; 2. 7,400 square cm; 3,700 square cm;
3. 2,352 square cm; 1,176 squadre cm

130°, obtuse; 49u°, obtuse;

142°, obtuse; 60°, acute; 90°, right

70°, acute; 90°, right; 40°, acute; 132°, obtuse; 132°, obtuse; 90°, right;
A. uU5°; B. 13°; C.115°;, D.97°

1.24,4; 2.24,6; 3.56,7; u.54,54,9; 5.6,7,60r6,6,7;, 6.4, 36;
7.7,10; 8.8,8; 49.6,6

1.i; 2.g; 3.d; Y4.a; 5.b; 6.c; 7.k; 8. 1I; 9. h; 10.f; 11.j; 12. e
1.32.U43; 2.21.54; 3.494.15; 4, 1,111.11; 5.31.59; 6.U22.75;
7.23.19; 8.115.95; 49.187.9; 10. 28.91; 87.9 and 1,011.11 don’t belong
1

6

111, 2. 36.98; 3. 2.91; U. 975.33; 5. 25.59;
. 8.59; 7. 166.56; 8. 36.82; 9. 55.02; 10. .19 seconds

1 2.54 cm

8 20.32 cm

10 25.4 cm

100 254 cm

30 76.2 cm

6.5 16.51 cm
d; e f
u. $48.00; r. $66.50; k. $14.00; I. $31.U5; e. $5.36; c. $6.00; b. $18.75;

?1 $6U. 80 m. $|46 l-ll-l j. $63.40; a lumbear jack
3 §
15

g 18 16,116,

@ RAE @
@ @

1 _
+2—2cups

2 .
y 8.5+

1 1 2 1
115,45, 55,15 217,33, 33,25 3. 1i0 Y 28 15
.13, 23, 25, 25; 5. 175, 155, 113, 1075; 6. 5 15 miles
$12; 6 acute angles; $27.50; %

]
1.$1.23; 2.11.7 sec.;
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